EARAROBREBRT —5 XN—ZXBISH—F

2022688208 (£) 3EEE3H

12R k) A

17> 4LESE

EEE=CIEE

1800M FHE

[~E%] 17%&:7,700,000 § ~ 23:3,100,000 .~ 37 :1,900,000 437%&:1,200,000 5 3&:770,000

B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
_3p _ s 3 | BKE— 1:47.4 5-6 3441 9.9 | 2 | 432 |REED R
1Y 4| )b—YaUr—2a 5.0 5 ") ERA— ALV
P (+8) | ,=
RIZAEILN=T B:NNVY7RYS [k e
— 4 3 | PlEX 1:47.5 4-4 34.7| 9.0 | 1 482 | IR )
26| TI—FIIAL 52.0 G/ Gy | B BYF-L-yv7
R:O—RAHr+rO7 8B:XIvIIALLA /=Y Tr—I
=9 _ 4% 3 | ENAEE 1:48.0 3-3 36.0| 91.5| 6 480 | ARE GEH)
3 13 ST77IFU—K 52.0 ©) o | ® vyF-L-vvo
RiIFVIAXNXN B:SZAI—=3 VE LN
S 3 4 3 | WMEES 1:48.1 7-8 34.8|89.9 | 4 38 | LEEZ EH)
40810 PAMVETVR 52.0 (3/4) w2 | @ o1
RiI—IVRYY T B:OREFIER ARET1—T7—L
—= s 5 | RHIBE 1:48.3 7-7 35.1] 8.0 | 9 | 484 |FHEX EH)
5/8[15 7 TILY—5 55.0 (1/4) 4g) | @ G1L—yv7
R:T=ILRYY T B:AILT—b (\) #HB81—-RU—yavBEEI7
» A& : - SRARIEAE 3
6 5| TIWTUa—5 it 3 G 1.(4%.4 12-14 | 34.5) 8.6 | 7 ffa; ﬁ%ﬁgm NES:)
RiFAIRXIv— B:LZ5— HBEIT7—LA
~ _ it 4 | RED 1:48.7 1211 349 83.7 | 12 | 426 |BAEX F&)
7\ 72|12| P A¥ X121 A52.0 a3/ vy | B oa
RE-UR B:UAYTUX—S ARET1—T7—L
=~ H t 4 | BllfEiEA 1:48.7 15-14 349| 8.7 | 5 458 | EER )
8|59 | ZLI=VTHY 4 55.0 @7E) © EER
RIN=VITSA B:LyRHY BDIT7—LA
R, — s 4 | SEEXA 1:48.9 5-5 35.9] 8.2 | 8 | 430 |MHE= (EH)
9|8l14| AT« —K~TI—L [B] B a D Cao | W) 95TLYKRIST - 5T47
R:T=ILRY YT B:ORENILNS EvIUy RI7—L4
— P y— 8 3 | ZEBEA 1:49.0 10-10  [35.4| 80.9 | 14 | 468 |WEBRZ (55H)
10fg1|A/—TL—R 52.0 a2 wn |EREEVLD
RiRLT+Y #:0-UPRFA4RX /=Y Tr—I
8 3 | —HEM 1:49.3 9-8 36.0| 78.2 | 3 04 | ERE GEH)
12| 0Lx+v 5.0 (1 3/ Go | EFEAR-LF (T2 @)
R:F4—TAVNTN B:vyF—0O-X J—YYTr—L
N st 5 | AveES 1:49.7 1-1 38.8| 78.0 | 13 | 460 |AREBL GEH)
12 3| IN=b A53.0 2 1/2) ) ?—F’?ﬁ—lﬂ%?‘
Ri—5—YvF B:T4—I TATAT7—L
o # 4 | BERET 1:49.9 2-2 38.2| 75.4 | 11 | 488 |EBAEL (H)
13/5/8| 7 [B] 0830 a1/ vy |EES
RiFRF BTFITRANIIT EHIS
=0 5% 8 4 | MALEATF 1:50.0 12-11 36.3 71.5 | 10 | 498 |KIEBA ER)
1w101|I/Ta=N 55.0 o0 wn | R SRR Yt=—
R:RSAVF B:y—JLy r7EY N TR
— <, e wN | : - BHZ EH
15 7| BFF IR 4t 3 e 1.(591).5 10-11 | 37.8] 60.0 | 15 ‘8? 7@g%( )
RiReSAVT BRII—F N oEE
[ BN
En'y 48.8-36.5
NOYFA L | 12.5-10.7-11.3-12.1-12.0-12.3-12.2-11.7-12.6
@ 11— —BBIEIL
13—7F—
20—F—
Ja=zr= 3,8-13=6(4,14) (10,15)2(7,11) (1,5,12)9
40—F— 3-8-13=6,14,4,15(2,10)11(1,7,12) (5,9)
0 ILRE
BB 420/ JA R 4-6 3004 & 3-4 530 3EE 4-6-13 3,630
B B 4 1504 4-13 1,200 o 18 4-6 6304 3Es 4-6-13 13,660M3
1409 6-13 950M oS- 4-6 1,400
13 3704

ABIC OV TRUTEREERRODDZE. THRIIZEL.




